
 

Warmup Prove that

f R1 33 IRI I
X 3

is a bijection

InverseFunctions

A bijection fi A B gives us a rule for

going
back to B from A Specifically yoB

can map
back to the unique xeA such that

f x y

Def Let fi A B be a bijection The
inversefunction of f is

ft B A

defined as follows For each yeBf is the unique element xeA
such that f x y
That is f ly x y f

x



Ex fi IR gas given by fix ex
is a bijection

f O as IR is given by f ly Inly
Inly x y ex

Ex g o o o o

x i x2
is a bijection

Its inverse is g O o gu
y is my

rye It o

Ex Sin IR IR is not a bijection

but sin E I 1,1 is

Its inverse is sin 1,1 L E E

sin ly x y sin x

and EEXEE




